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1x1=
2%1=
3*1=
4x1=
5*1=
6*1=
7*1=
8*1=
O%1=

O 00 NN O U B W N =

1%2= 2
2%2= 4
3%2= 6
4%2= 8
5%2=10
6%2=12
7%x2=14
8x2=16
9%2=18

1*¥3= 3
2*3= 6
3*3= 0
4%3=12
5*%3=15
6*3=18
7*3=21
8*3=24
9x3=27

1*4= 4
2%4= 8
3%4=12
4%4=16
5%4=20
6*4=24
7%4=28
8%4=32
9%4=36

1%*5= 5
2*5=10
3%5=15
4%5=20
5*%5=25
6*%5=30
7%5=35
8*%5=40
9%5=45

1%*6= 6
2*%6=12
3*%6=18
4%6=24
5%6=30
6*%6=36
7%6=42
8*%6=48
0%6=54

1x7= 7
2%7=14
3%x7=21
4%7=28
5%7=35
6%7=42
7%7=49
8%7=56
9%7=63

1%x8= 8
2*8=16
3*%8=24
4%8=32
5*%8=40
6*%8=48
7*8=56
8*8=64
0%x8=72

1%9= 9
2*%9=18
3*x9=27
4*9=36
5%9=45
6*%9=54
7*%9=63
8*9=72
9%9=81
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#include <iostream>
using namespace std;

int main(){
cout<<"1*1=1";
return 0;
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1*1=11*2=21*3=31*4=41*5=51%6=6 1*/=7 1*8=8 1*9=9

#include <iostream>
using namespace std;

int main( ){
cout<<"1x1=1 ";
cout<<"1*2=2 "
cout<<"1*3=3 ";
coute<hLrd=4 3 EEEE - AT KRS - BRan— N RAINE!
cout<<"1%5=5 "; N
cout<<"1*6=6 ";
cout<<"1x7=7 ";
cout<<"1*8=8 ";
cout<<"1x9=9 ";
cout<<"\n";
return 0;
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1*1=11*2=21*3=31*4=41*5=51%6=6 1*/=7 1*8=8 1*9=9

#include <iostream>
using namespace std;

int main( ){
int i; .
for(i=1;1<=9;1++){ ?ﬁtﬂiﬁﬂu ’ 1§ :

cout<<“l*"<<i<<"="<<]l*1<<" ";

r&l
[BH

}
cout<<"\n";
return 0;
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#include <iostream>
using namespace std;

int main( ){
int i3
for(i=1;1<=9;1++){
colt=<l==lkPe=jaall= W]l

}
Fintf("\n" ) I¥1= 1 1%2= 2 1%3=3 1%4=4 1%5= 5 1%6= 6 1%7= 7 1%8=8 1%9= 0
P _ , . 2%1= 2 2%2= 4 2%3= 6 2%4= 8 2%5=10 2%6=12 2%7=14 2%8=16 2%9=18
for(i=1;1<=9;1++){ 3%1= 3 3%2= 6 3%3= O 3%4=12 3%5=15 3*%6=18 3%7=21 3*%8=24 3%9=27
COUt<<2<<"*"<<i<<"="<<2*i<<" ",

}

printf("\n");

for(i=1;1<=9;i++){
cout<<3<<"*"<<ic<" =" <<3* 1 <<"

}
printf("\n");
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#include <iostream>
using namespace std;

int

main( ){
int i3

for(i=1;1<=9;1++){
colt=<l==lkPe=jaall= W]l

}

printf("\n");

for(i=1;1<=9;1++){
colt=<2<=ll k Me=jaall= e gl

}

printf("\n");

for(i=1;1<=9;1++){
cout<<3<<"*"<<ic<" =" <<3* 1 <<"

}

printf("\n");

I¥1=1 1%¥2=2 1*3=3 1%4=4 1*%5=5 1*6=6 1*7=7 1%#8=8 1*9=9
2*%1= 2 2%2=4 2%3= 6 2*%4=8 2*%5=10 2%6=12 2*7=14 2%*8=16 2*9=18
3*1= 3 3*%2= 6 3%3= 0 3%4=12 3%5=15 3%*6=18 3*7=21 3%*8=24 3%9=27



#include <iostream>
using namespace std;

int main(){
int i

for(i=1;1<=9;1++){

cout<qy
}
printf("\n
for(i=1;14

cout<qy
}
printf("\n
for(i=1;19

1

k<"*"<<i<

);
D 1++){

k<" *"<<i<

)3

D ; 1++){

cout<q

}

g

<" ¥ "<<l<

printf("\n");
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#include <iostream>
using namespace std;

int main(){
int 1,3;
for(j=1), i=1;1<=9; i++){
cout<<j<<"*"<<ic<"="<<j*1<<

nou,
3

}
printf("\n");
for(j=1f, 1=1;1<=9; 1++){

cout<<j<<"*'"<<i<<"="<<j*i<<

nou,
b

}

return 0;



BT LU EERE? (2/2)

1%¥1= 1 1%2=2 1%3=3 1%4=4 1%5=5 1%6=6 1%7=7 1%8=8 1%9= 9

#include <iostream> 2%¥1= 2 2%2= 4 2%3=6 2%4= 8 2%5=10 2%6=12 2%7=14 2*8=16 2%9=18
- - - * B * B * B * ‘) * ] * b * B * b * —1

#include <iomanip> 3%x1= 3 3%2= 6 3%3= 9 3%4=12 3%5=15 3%6=18 3*7=21 3%8=24 3%9=27

_ 4%1= 4 4*%2= 8 4%3=12 4*4=16 4*5=20 4%6=24 4*7=28 4*8=32 4%9=36

using namespace std; 5%1= 5 5%2=10 5%3=15 5%4=20 5%5=25 5%6=30 5%7=35 5%*8=40 5%9=45

6*1= 6 6%2=12 6*3=18 6*4=24 6%5=30 6%*6=36 6*7=42 6%8=48 6*9=54

int main(){ 7x1= 7 7%2=14 7%3=21 7*4=28 7%5=35 7*6=42 7x7=49 7%*8=56 7*9=63

_ o 8%1= 8 8%2=16 8+%3=24 8*4=32 8%5=40 8*6=48 8*7=56 8*8=64 8*9=72

int 1,7; O%1= 9 0%2=18 9%3=27 Ox4=36 O*5=45 O%6=54 O*7=63 Ox8=72 9%9=81

for(j=1;j<=9;j++){
for(i=1;1<=9;1++){

cout<<j<<"*"<<i<<"="<dqsetw(2 )k<j*i<<" "; — — s [ S R a c = — 3 [EE
JRINEEEREBEEGZE - IBAREEE

} Y28 B Tl = Y -
printf("\n");
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) (#include <iomanip>) BB Tie  EENT BER2BREATSEHK
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